DAILY BASIS ASSIGNMENT

Date:19.05.2020 Class: VI Day: Tuesday

Subject : English

Identify the noun which does not belong to the specific group:

1. a) neighbour
b) secretary
c) principal
d) nephew
2. a)wizard
b) mistress
c) count
d) heir
3. a)drake
b) filly
c) peahen
d) shepherdess
4. a)cluster
b) choir
c) earthenware
d) galaxy
5. a) knowledge
b) reward
c) success
d) novelist

SUBJECT: MATHEMATICS

1. The place value of 1 in numeral 2891960 is

a. 10000
b. 1

C. 100
d. 1000

2. Roman numeral for 149 is

a. CXLIX
b. cxxix
C. XCIX
d. xxix



3. Hindu- Arabic numeral for CIX is

a. 99
b. 109
C. 119
d. 89

4. How many 4-digit numbers are there?

a. 9999
b. 90000
C. 9000
d. 1000

5. What is the numeral for twelve crore thirteen lakh twelve thousand fourteen

a. 121212014
b. 120131214
C. 121312014

d. 102131214

SUBJECT: PHYSICS
Multiple Choice Questions (Select Correct One)

1. Which is not the mean of air transport-
(a) Boat
(b) Aeroplane
(c) Helicopter
(d) Drone.
2. Which is not the mean of water transport-
(a) Boat
(b) Drone
(c) Ship
(d) Submarine.
3. Which is not the mean of land transport-
(a) Train
(b) Bus
(c) Drone
(d) Car.
4. Which one is the unit in SI system-



(a) Palm
(b) Cubit
(c) Span
(d) Metre.
5. Which one is not used to measure distance-
(@) Millimetre
(b) Centimetre
(c) Decigram
(d) Metre.

SUBJECT: CHEMISTRY

Multiple Choice Question (MCQ)

1. The air that we breath in, is ................ gas.
(a) Nitrogen
(b) Hydrogen
(c) Oxygen
(d) carbon dioxide

2. Steel spoons used for cooking become hot easily. They are often given handles of-
(a) Copper
(b) Iron
(c) wood
(d) Aluminum

3. Which are of the following that floats on an oil?
(a) Brick
(b) Stone
(c) Paper
(d) Iron

4. Which one of the following that floats on water?
(a) Thermocol
(b) Iron
(c) Stone
(d) Brick



5. Which one of the following that round in shape?
(@) Brick
(b) Stone
(c) Orange
(d) water

SUBJECT: BIOLOGY

Multiple choice questions :

1) The main vitamin present in carrots is
a) Vitamin A
b) vitamin B
C) Vitamin C
d) vitamin D

2) The other name of roughage is
a) Protective foods
b) Body building foods
C) Dietary fibre
d) Energy giving foods

3) The foods such pulses and groundnut are good sources of
a) Plant proteins
b) Animal proteins
C) Roughage
d) Fat

4) It helps our body to absorb calcium mineral from the food
a) Vitamin D
b) calcium
C) Proteins
d) Vitamin

5) It acts as a solvent for waste matter which passes out of the body in solution a)
Water

b) Cellulose
C) lodine
d) Minerals



SUBJECT: S.S. T
Multiple Choice Questions{Select the correct one}:-
1.Discrimination is based on

(a) prejudices (b) concept of society (c) education (d) marriage

2. The constitution of India banned the practice of untouchability in

(a) 1952 (b) 1950 (c) 1951 (d) 1947

3. Social reform movements led to the formation of

(a) Prathana Samaj (b) Brahmo Samaj (c) Dalit Samaj (d) Kisan Samaj

4. Of the total seats in the Panchayat----------- has to be kept reserved for women.

(a) one half (b) one fourth (c) one third (d) half

5. mmmmeeeee was the first leader of India,who shared his first experience of caste-based discrimination.

(a) Pt.Jawaharlal Nehru  (b) Rabindranath Tagore (c) Dr.BhimRao Ambedkar (d) Mahatma
Gandhi

SUBJECT: COMPUTER  REVISION (CH-1& CH-2)

Multiple choice questions (select the correct one):-

1. The process of coping audio files from CD into our computer by using Windows
Media Player is called
a) Burning
b) Ripping
¢) Calculating
d) None of these

2. Fourth-generation language are also known as very Language
a) High Level
b) Low Level
c) Common



d) None of these

. Windows 7 is an between a user and a Computer.
a) Translator

b) Converter
c) Interface
d) None of these

Machine Language is made up of
a)0’s

b) 1’s

c) Both of these

d) None of these

. Windows 7 is developed by .
a) Sun Microsystem

b) Microsoft

) AT&T

d) None of these
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